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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

11952. 	June, 2019 

(ELECTIVE COURSE : COMMERCE) 

ECO-07 : ELEMENTS OF STATISTICS 

	

Time : 2 hours 	
Maximum Marks : 50 

(Weightage : 70%) 

Note : Attempt any four questions. All questions carry 

equal marks. Simple calculator is allowed. 

1. (a) Fill in the blanks with a suitable word as 

given in the brackets : 	 8+4 
2 

(i) Schedule method of data collection is 

for the collection of 	 data. 

(primary/secondary) 

(ii) When the two terms of a ratio are 

interchanged, the second ratio so 

obtained is called the 	ratio. 

(inverse/distribution) 

(iii) In  	interview, 	set 

questions are asked and the answers 

are recorded in a standardised form. 
(informal/ formal) 
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(iv) In a distribution, mean, mode and 

standard deviation are 46.83, 5F67 

and 14.8 respectively. Its skewness is 

(0.0511— 0.327) 
(v) The skewness is 	 if 

mean < median < mode. 

(positive/negative) 
(vi) mean is reciprocal of 

arithmetic mean. 

(Geometric/ Harmonic) 
(vii) sampling is one of the 

methods of non-probability sampling. 

(Stratified/Judgement) 
(viii) A graph of time series data is called 

. (Historigram/Histogram) 

(b) State the causes of non-sampling errors. 

2. (a) Calculate median from the data given below : 

(b) Explain the concept of Tabulation. 	10+2 — 

2 
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Calculate standard deviation from the following 

data : 	 121-
2 

Marks No. of Students 

10 — 20 5 

20 — 30 12 

30 — 40 15 

40 — 50 20 

50 — 60 10 

60 — 70 4 

70 — 80 2 

4. (a) Draw a pie diagram to represent the 
following information regarding the 
expenditure of a family and various items 

during a month. 

Items 
Expenditure 

( 

(i) Food 5,000 

(ii) Clothing 2,000 

(iii) Rent 5,000 

(iv) Education 6,000 

(v) Others 1,000 

(b) What do you mean by False Base Line ? 

Explain. 	 8+4 -
1 

 
2 

5. Briefly explain the steps involved in a statistical 

survey starting from 'Defining the problem' to 

Writing the report'. 	 12 1 
 

2 
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6. (a) A distribution gives the following results. 

Compute the co-efficient of variation. 

Assumed mean = 45; Efd = — 100; N = 140; 
C = 10; Efd2  = 348. 

(b) State briefly the objectives of classification. 8+4 - 
2 

7. (a) Explain various parts of a statistical 

table. 

(b) What do you mean by distrust of 

statistics ? 	 8+4 1  

2 
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(pc-1 : 70%) 

\ 	 wrf AF/7 3--dz 007 Ffsti yrr4-7 37-*-  WIN 
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i. (*) Eir*-1 fkR TR 7-4 4* 	 ftw 

virRIA'r tft *WA 

at+--41 * fiur 	ard01 fklit 

	ait*-41* 	* 1Z,R t 
(3-r4fimitertr*) 

(ii) 3Tfrm 	' TrO 

3i-di4r41 	71-dT t, TEF sow 

-5rm 	facilg 
39E17 *r Am' t I 	(00-jcst0-1/ 101) 

(iii) 	ITT IT 	4 fds-0.0 3rF 	qT4 
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(iv) 7W 'Wd7T 14, war 	74 	 
14.4-dq 	4: 46.83, 5F67 3 14.8 

tI I §i-ict)f "arlwi (skewness) 

I 	(0 . 051/-0-327) 

(v) 41511z1  	RrE4 	 
< 	(grtregrwItuliciich) 

(vi) 	TrTur tHim 'mar 	ogcstv4 
(reciprocant I 

Nu) 
(vii) 	Aft-dzi4 NINch;ot 	%tem 

	

*r*14 t 	(t-cifkcr) 
chio 4* 34-*--41 
cr> t I 	(TrW*ftwaTr4ff 1=44) 

(w) aT5rIW-444 re41* enRuil i  

	

2. () 414 it /r7 aft-4114 lilt 	chr *=r Trogr 

evicfri 	cv) wrq 

r ri) 7-fi-dro 	ff .<9e1/ 

0-10  14 
10-20 •23 
20-30 27 
30-40 21 
40-50 15 

(IN) kiRuno.m (Tabulation) 	 cent90.41 
c1.1* I 	 10+2 1 

 

2 
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3. P+- 	11IRII aftt 4 1:ITW i4- 64 (standard 

deviation).Q.1TuRT 	 12! 
2 

3* (Marks) Eil 11l 7447 

10 - 20 5 

20 - 30 12 

30 - 40 15 

40 - 50 20 

50 - 60 10 

60 - 70 4 

70 - 80 2 

4. 	 ITTEr 	 trit4Ti 'TKT 

	 TR qH1iRsicf o 	Nig4 	 enk:f 

f0T 	alkfif (pie diagram) 61-IIV : 

WI ( r) 

(i) *44 5,000 

(ii)  2,000 cnti . 

(iii)  5,000 klell 

(iv)  6,000 

(v)  31P4-  1,000 

(gf) iquiT 311118 IniT (False Base Line) 3171A 

SIT 	? oeittsadtlf4R I 	 8+4 — 
2 

.  
 1:14kiul (statistical survey) 4 -1 

few atu1, LEPTFET 	ilfreira-  ct,k 7  4 	cm 

`MN 	 1*F 4 0,41(9.411 AtN7 I 	12 
2 
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6. (*) 	facet 	 Iliturgf 31-47 chtcit t I 
vRui tiutich (co-efficient of variation) *:t 7P3RT 
* I 

*PM TITur (assumed mean) = 45; 

Efd= — 100; N = 140; C = 10; Efd2  = 348. 

(14) cillichtuf * TO* TiOtT 3-01-  rr--A7 	8+41 
 

2 

7. (*) "crW 	 TIT* * 'VW ITT711i oe-iitseif 
*ri* 

(u) TriftWr * 	alf-gro-r-fr 	3Trzwr *Err dit-4 
? 

	

8+41 
 

2 
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